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IBPS RRB PO Pre Memory Based Paper 02.Aug.2021

Directions (1-5): Study the following information carefully and answer the question given
below-

Seven persons were born in seven different years viz. 1995, 1957, 1990, 1980, 1974, 1975, 2005. (All
the ages of the given persons have been calculated on base year 2020).

The difference between the ages of R and T is perfect square. Age of Q is odd number. The sum of age of
P and Vs equal to the age of S. The difference between the ages of T and U is one year. U is not the eldest
one. The difference between the age of S and V is 15 years.

Raffea s #1 samgEs sregae o sie = iR e o & s -

T STT-3TNT quT AA7d 1995, 1957, 1990, 1980, 1974, 1975, 2005 H |G =ATwhat #7 ST+x g o7l (f’w
T SAEIT T THT ST T ITOET AT T 2020 T2 HT T2 7))

R ST T 3T S & &= &7 3fq< T a9 gl Q it g TAwH | g P 3T V T o &1 T, S T 311 o qaT
gl T 3l U T & % 1= 7 (a2 UF a9 gl U HaH I=T A6l gl S 3T VAT 3 o S1= &7 ofa< 15 a9 g

Q1. Who among the following is the eldest person?
Faffea § 9 999 st =Re s 872

(@Pp

(b) R

(9Q

(d)S

(e)T

Q2. What s the difference between the ages of R and S?
R #iX S #it g § T siax 87

(a) 20 years/20 T

(b) 10 years/10 a9

(c) 1 year/1 3w

(d) 24 years/24 a9

(e) None of these/ZH ¥ Fls H@'

Q3. Who among the following born in year 1975?
fRefafea § 9 gt =7 ad 1975 # g an

(U

(b) R

(P

(d)Q

(e) None ofthese/é‘rl’ff T Frg «T@
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Q4. What is the sum of ages of V and Q?
V & Q FiT &g &1 TRT FAT 87

(a) 47 years/47 T

(b) 75 years/75 a9

(c) 88 years/88 a9

(d) 24 years/24 99

(e) None of these/Z7H o &S gl

Q5. How many persons are older than T?
T & 78 fFaw =afe §7

(a) Four/=TX

(b) Three/d=

(c) Two/aT

(d) One/T=

(e) None/®Ts gt

Directions (6-8): In each of the questions below are given some statements followed by some
Conclusions. You have to take the given statements to be true even, if they seem to be at variance
from commonly known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements disregarding commonly known facts.

T QT TC 7@ 77 § T FAT 3T 9% 18 7 oy I 14 €1 sroehr @ ¢ oAt 1 97 91T |,
T g F gaSTa a4 e w1 g gl aet At w1 st sy ik e i sfifse & Reoag
fAehet & & i 97 Aohd G €9 ¥ 0T T A AgaT Ry T e T weEt # arfes €9

STET AT gl

Q6. Statements:

Only a few mobile are headphone
Only headphones are fan

No headphone is a charger.
Conclusions:

[. All mobile can be headphone

[I. Some mobile is not charger.

ER L

AT TS AT 2ShIT &

FAT TR T HA &
FIe gSHIA AT A51 2l
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I sft graTEer S 2 7R 3

1. FF HETEA A5 Toi gl

(a) If only conclusion I follows.

Tf% Fae Aoy | SIgEeor F3aT 2|

(b) If only conclusion II follows.

Tf% e ARy 11 SIEeoT F3aT 2|

(c) If either conclusion I or II follows.
T A7 T w1 47 11 SATE0T F2aT g
(d) If neither conclusion I nor II follows.
T T a7 AR [ 3% T 57 11 a0 HXaT gl

(e) If both conclusions I and II follow.

T R [ 3T 11 AT SIgEor FiLd 2l

Q7. Statements:

All green are blue.

Only a few blue is white.

Only white are red.

Conclusions:

I. Some red can be blue is a possibility.
[1. All green can be white.

T

Tt I =7 2.

EEE KA ECRER

A

1. %% YT % o g il TH1EAT g

1. T A =215 &1 9 2|

(a) If only conclusion I follows.

T2 Fae Aoy | SIgEeor F3ar 2|

(b) If only conclusion II follows.

T2 Faer Aoy 11 SIgE<T F3aT 2|

(c) If either conclusion I or II follows.
T2 =7 a1 Ao 1 97 11 a0 FH2aT g
(d) If neither conclusion I nor II follows.
T 7 a1 w1 3fT 7 81 11 a0 Far &l

(e) If both conclusions I and II follow.

Tfe Ao [ 3T 11 T STTa0 2 &
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Q8. Statements:

No weather is rain.

Some weather are summer.
All weather are winter.

Conclusions:
I. All summer are winter
II. Some winter are not rain

FIA:

TS HIEH FTLT Aal gl

Feg HIEH THT 2

Tt T A< 2.

A

1 eft et s E

I1. F® A<t AT Aol &

(a) If only conclusion I follows.

T Fae Moy | ST 2T Bl

(b) If only conclusion II follows.

T Faer Moy 11 SIEor T gl

(c) If either conclusion I or II follows.

T I7 7 w1 37 11 SATE0T F:aT g
(d) If neither conclusion I nor II follows.
T 7 a1 AR [ 3% T 57 11 a0 HLaT gl

(e) If both conclusions I and II follow.

7f3 w13 11 A1 AqE0 3 gl

Directions (9-13): Study the following information carefully to answer the given questions.
Twelve friends sit in two parallel rows containing six people each such that they are equidistant from
each other. Inrow 1: A, B, C, D, E and F are seated and all of them are facing South. Inrow 2: P,Q,R, S, T
and U are seated and all of them are facing North. Therefore, in the given seating arrangement, each
member seated in a row faces another member of the other row. P Sits 37 to the left of S. Either P or S
sits at an extreme end of the line. C sits 21d to the left of the one who faces P. Neither E nor F sits at an
extreme end. Tow persons sit between B and D. R sits at an extreme end. B is facing the one who is
fourth to the right of U. A is not an immediate neighbour of D. T faces E.

R T 7ot F SR 39 F forg Meffea sl #1 sagE s steaae fifer

g 7 21 gaae dfeat § 90 8, SH vow § g8 AE T8 9w 90 ¢ 6 9 UE g § g9 @ W2
qf<h 1¥: A, B, C, D, E 3T F 5% 8 3T & &4 Iferor it 3T 37@ gl i<F 2H: P,Q R, S, T UTS & e &
Tt ST AT AT ST gl TATAY, & TS T ol AGedT |, Th Gk H 96 TAH GG F @ ALl 9ih &
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I+ TEeT T T 21 P, S F 978 & S T 9T F7 g1 AT A1 P AT S U<k F sifaw = uw 31 81 C 37 AR
FAR AT M W ASTE PR AT IHE G A EMR T Fiffw SR w181 Biw DF = ar
f<F 95 g1 R TaH X 9% 927 g1 B 37 AR it ¥ I7q@ g 57 U F T3 & A1 #2479 9 81 A, D F1 Fefean
TERT 7L 21 T, E &t 3 374 2

Q9. Who amongst the following sit at the extreme ends of the rows?
fRafafea & @ #i9 dfwal & siftm S st &2

(@ RE

(b)B,P

(c)B,E

() P,R

(e)A,S

Q10. Who amongst the following faces R?
fRafafea & @ :19 R s SE 77

(@A

(b) P

(@S

(d)R

(e) None of the Above /3% H Fls gl

Q11. How many persons are seated between U and S?

U T S % #eg fohaet =ai=e 9 82
(a) One /T

(b) Two /al

(c) Three /?‘ﬂ:f

(d) Four /dIR

(e) None ofthese/%‘«-l’ﬁ T A H@'

Q12.Aisrelated to P in the same way as D is related to Q based on the given arrangement. Which
of the following is E related to, following the same pattern?

2T T SATET & AR I A, P & IHY T G tea g S I D, Q & H&faa g1 a9 ITSq FT SIga<or
4 gu fRefafaa § 9 E e 94faq 2

(@A

(b)S

(R

(d)B

(e) Cannot be determined
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Q13. Four of the following five are alike in a certain way based on the given arrangement and so
form a group. Which is the one that does not belong to that group?

2 TS FFeT & e ) Rafefee g § § 9 uw [ 8% & g9 § 6] T a9 99 81
FA 1 97 TF 9 g9 & HefAq TGl 82

(@A RF

(b) B,Q

() QE

(dP,R

(e)A U

Directions (14-16): Study the following information and answer the given questions.

There are nine members in a family. D is daughter of C. A is married to D. F is father of B. F is brother of
A. H is mother of G. M is father in law of A. G is son of F. E is daughter of A. F has only one son and one
daughter.

e st w1 srerger fifSrg o g o et & s difsmy

U TR § 91 9a&7 g1 D, C AT AT g1 A, D & faartea g1 F, BFT [4aT g1 F, AFT A2 g1 H, G Fl AT 51 M,

AFTHER 81 G, F &1 T g E, AST AT 8| F T vael Uah T AT T AT 2

Q14. How is A related to G?
A, G ¥ g wr " faa g7
(a) Brother-in-law

(b) Aunt

(c) Uncle

(d) Sister-in-law

(e) None of these/Z#H | &< Tal

Q15. How is E related to M?

E, M ¥ fohg Yo Gefera 872

(a) Mother

(b) Uncle

(c) Grandfather

(d) Granddaughter

(e) Can’t determined/ fRrerfa w2t R ST ThaT

Q16.IfP is brother of D, then how is P related to M?
afd P, DT WS &, A P, M & e Wi Hsifera g2

(a) Son

(b) Daughter

(c) Son-in-law

(d) Daughter-in-law

(e) Can’t determined /[T w51 fFaT ST |ohaT
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Q17.How many pairs of letters are there in the word ‘CONFERENCE’, each of which have as many
letters between them (both forward and backward direction) in the word as they have between
them according to English alphabetical order?

% 'CONFERENCE' & Fuif & U& fraqer 0 §, o & v & i orsg & Sav &F 99f § (3 sfe i it
e F) R S = SRS FofATaT F39 % IER §2

(a) One/T

(b) Two /=T

(c) Three/di=

(d) Four/=mX

(e) None of these/Z#H | g gl

Directions (18-22): Study the following information carefully and answer the given questions:
Seven people P, Q, R, S, T, U and V live on different floors of a seven-story building, but not necessarily
in the same order. The lowermost floor is numbered-1 and the above floor is numbered-2 and so on
until topmost floor is numbered 7. Also, each of them has different professions viz. Businessman,
Shopkeeper, Pharmacist, Director, Musician, Carpenter and Teacher but not necessarily in the same
order.

V lives on the 3rd floor. P lives above the one who is Teacher. There are two floors between the floor in
which T and R live. The one who is Director lives on 1st floor. T lives just above the one who is Musician.
R lives on an odd numbered floor. U lives just below the one, who is Carpenter. There is only one floor
between the one who is Shopkeeper and Q. There are three floors between the one who is Pharmacist
and P. T is not Shopkeeper and Businessman.

AT =A<k P, Q, R, S, T, U 3T V U AT HISTAT THTLA il [STH= HISTAT I g &, AT SIe<l Agl o SoT /A
H gi gae F=etl §iore il AT -1 § ¥ ST 0l Foid il §E&qT -2 § ¥ THI a¥g qad ST "o ahf
AT 7 8| AT 51, SAH H e Hl A-AT AT ¢ AT ATHTAT, THIARTL, BIATHES, Faersh, TfaanT,
TE2 3T TAAF AR SAMT9TF Aol SHT 77 T 2T

V, T #1STer 9% T2aT gl P 39 AT & U< T2al g ST 19rera g o 9o § T 3T R T8 &, 39 o= af
HISTT g1 9g ATk ST a9 8, Tgel Hiord 9% Tgar gl T 39 Ak & o1 HUL Lgdl g ol T aa< gl R, TH
oo "t aTett /9 9% @At 81 U, I8 & 31 A g gl REER T Q & A1A Had Uh HioA Bl
ETATTHEE 3T P &9 q19 Jioret g1 T, TR 3 Haart agl &l

Q18. Who among the following is Pharmacist?
fRafafeaa # 9 f19 wwifaw 32

(@s

(b) R

(U

(dT

(e) None of these [ZTH T S H@'
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Q19. Which of the following groups live on an odd numbered floors?
FRaffea & & w ar aug Ruw g art 1ot 9 @ar 82

@UQ

(b)P,S

(c)P, T

(d)S, T

(e) None of these /Z7H & Fls gl

Q20. What is the profession of R?
R T SAGHT 4T 372

(a) Businessman /3T9TEY

(b) Shopkeeper /IHTAETX

(c) Director// 9T

(d) Carpenter/azs

(e) None of these /Z7% & Fls gl

Q21. How many floors are between the one, who is Musician and Q?
R X Q F = fFaet ot 67

(a) One/T=

(b) Three /a1

(c) Two /a7

(d) None /#Ts &l

(e) None of these /Z7H | s gl

Q22. Who among the following lives on 5t floor?
fefofaa 7 & #19 541 #foe W Ear 2

EY

(b)R

(@Q

(d) P

(e) None of these

TAH | AL T

Directions (23-27): In this question, relationship between different elements is shown in the
statements. The statements are followed by conclusions. Study the conclusions based on the
given statement and select the appropriate answer.

T T | FIl A RS gt & fiw day i q9iar w1 g1 A F 912 et fQwa @ g Re g s s
AT I fAshut &7 sregger Fifor =i e Se & r 99+ sy
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Q23.
Statement/s=:

A=L=T<R=H=>HK
Conclusions,/feresm;
LH=L
K =T
(a) If only conclusion I follows
Tfe Faer ARy [ sIqEeor F3ar 8
(b) If only conclusion II follows
Tfe Feer ARy 11 SIEe F3aT &
(c) If either conclusion I or conclusion II follows
Tfe =7 a1 ey 1 97 Ao 11 S8 #3ar 8
(d) If neither conclusion I nor conclusion II follows
I 7 a7 AR [ 3% T 3t Ao 11 T8 #3ar §

(e) If both conclusions I and II follow

T TR [ 3T 11 AT SIgEor FLd &

Q24.
Statements/®T:
P2N>D=G<B=x]
Conclusions/f=a:
LG<P
.G =1
(a) If only conclusion I follows
Tfe Faer Aoy [ S8 F3aT &
(b) If only conclusion II follows
I el Moy 1 SIEor F2dl g
(c) If either conclusion I or conclusion II follows
7f3 a7 a1 fAed 197 Ao 11 s Eor F3ar 8
(d) If neither conclusion I nor conclusion II follows
T 7 a1 ewe [ 37 7 g e 11 oo #2ar g

(e) If both conclusions I and II follow

7f3 w13 11 391 S8 :3d &

Q25.
Statement/wmu:
O=E<|l=MN=R=z3
Conclusions. /e
LE=5

I.S=N
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(a) If only conclusion I follows

T3 Fae Aoy | sIqEeor F2ar g

(b) If only conclusion II follows

Tf% Faer Aoy 11 SIaeo F2ar g

(c) If either conclusion I or conclusion II follows
TfZ =77 a1 AR [ 97 Ao 11 srq@<or #3ar 8

(d) If neither conclusion I nor conclusion II follows
Tfe 7 a1 e [ 3f7 7 g1 e 11 T awor #3d1 §

(e) If both conclusions I and II follow

Tfe Ao [ =i 11 ST ST F°2d &

Q26.
Statement/su=:

E=Sz2¥Yz2M<W=0
Conclusions,f@r=mm:

LY <M

.0 =5

(a) If only conclusion I follows

T Faqer Moy | SIEor Fdl g

(b) If only conclusion II follows

IS Faqer Moy 11 e F2dl g

(c) If either conclusion I or conclusion II follows
7fe a7 a1 ARy 197 e 11 @ F3ar @

(d) If neither conclusion I nor conclusion II follows
T 7 a1 e [ 3T 7 &1 et 11 a7 F+2ar &

(e) If both conclusions I and II follow

T R [ 3T 11 AT SIgEor :Ld &

Q27.
Statement/saa;

F=C=WV=7Z<X=U

Conclusions,=ewe:

LV <U

Il.Z<F
(a) If only conclusion I follows
Tfe Fae Aoy | sIqaeo F2ar g
(b) If only conclusion II follows

T2 Fae Aoy 11 SIgaeo F2ar g

ALL EXAMS,
ONE SUBSCRIPTION.
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(c) If either conclusion I or conclusion II follows
7fE =7 7 A [ 97 Ao 11 ST aeor #3ar g

(d) If neither conclusion I nor conclusion II follows
e 7 7 A [ 3T 7 g1 Ao 11 180T #3aT &

(e) If both conclusions I and II follow

Tfe Ao 1 =i 11 ST a0 3 &

Directions (28-30): Study the information carefully and answer the questions given below.
A is 4m south of B. D is 5m west of E. H is 4m south of G. C is 8m north of D. C is 4m east of B. G is 3m
east to F. E is 12m south to F. I is mid-point of F and E.

ST T SATAIAH LTI hifory 3T = fag 1w st & S Ao
ABF 4HT AT I D,EFSHI AT H gl H,GF 4HT AT H 81 C,DF 8HI ITL H gl C,BF 4HT @ H
gl G, F# 35T 93 # g1 E, F & 12¥T gferor 7 1 I, F &< E &1 7e7-T6g g

Q28. In which direction is G with respect to E?

Exa=d A cRraRard g

(a) South east /aferor 4=

(b) South west /aferor afzr

(c) North east /3T¥ 9&

(d) North west /3T Tf%

(e) None of these/Z#H & #Is A5l

Q29. What is the shortest distance between D and 1?
D 3% | F Heq ~qaaw g hael g7

(a) V63 m

(b) V71 m

(©)V73m

(d)V61 m

(e) None of these

=it & S A

Q30. In which direction is C with respect to F?
F¥ 8y 7 C fare feem & &2

(a) South east /aferor Eﬁf

(b) South west /aferor afzra

(c) North east /3<X Eﬁf

(d) North west /3T Tf2¥

(e) None of these /37H & FIS Tal
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Q31. If we form a meaningful word by the first, third, sixth and seventh letter of the word
‘MINISTER”, then which of the following will be the third letter of the word thus formed. If more
than one word is formed mark Y as your answer. If no meaningful word is formed, mark X as
your answer?

7f< g 15 'MINISTER' & 98, THY, S < q1q9 a0f & T A0l 9151 9914 &, A =9 T Afda arse
& dra<r avr Faferfea & & it a1 gem aft uF & sfee e a9a § aU Y ¥ 39T ST Ao Ik e
TAF 958 AGT AT &, T X il STqT I Ao

(@0

(b) X

(N

(@Y

(e)K

Directions (32-35): Study the following information and answer the questions below:

A uncertain number of persons sit around a circular table and all of them face towards the center. Two
persons sit between S and I. T sits 3rd to the left of S. ] is the immediate neighbour of both P and F. F sits
immediate left of T. P sits third to the right of B who sits second to the right of K. Only V is the immediate
neighbour I and K. D and M sits adjacent to each other and only two persons sits between D and L who
sits immediate left of S.

R STerh 1 sreage fivR sie 9 R 1w e & s fivA:

AT ST § SAT<h T Tl 3 & AT AT 96 g 31T o THT g il AT 3@ gl S 3T 1 1= &l A6
g5 1 T, S & 913 & 9L T U< 937 g1 J, P 3T F 41 &7 (Aehedq 926t gl F, T 3w 913 d1 81 P, B*
T H AL T 92 937 8, ST K 3 213 | AL T 92 97 gl #ad V, 13 K F7 Hahead =& g1 D 3T M
TH-ZHY & AT 95 8 TAT D ¥ L3 19 Faer a7 =4f<h 98 €, 57 S F S a1 927 2|

Q32. FATHT AT & AR A fhae AfE o 872

(a) 18

(b) 16

(¢) Either (B) or (D)/3T aT (B) AT (D)

(d) 17

(e) Cannot be determined /f&THa Ag! AT ST Fehat

Q33. How many persons sit between M and F when counted from the right of F?
F % T & 9 aX M i F & wex faq safxe €5 82

(a) Five/9m=

(b) Six /=7

(c) Ten /==

(d) Four/=mT

(e) None of these /3% & FlE i
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Q34. Who among the following sits 374 to the right of D?
Ruffea & 9 59 D F T3 § o T R S3T 82

(@A K

(b) unknown person /3TsTd =7{<h

(Vv

(d) L

(e) None of these /Z7H & Fls gl

Q35. The number of persons sit between I and M is same as the number of persons J and __?
130T M & =1 &5 =qfeat it g, | i __ % safedl Y &7 & 96 57

(@F

(b) B

(T

(AL

(e) None of these/Z7H o &S A&l

Directions (36-40): Study the following information carefully and answer the questions given
below:

Eightboxes F, G, H, U, V, X, Y, Z are placed one above another but not necessarily in the same order. Box
H is placed below box Y. Three boxes are placed between H and U. There are two boxes between V and
Z. Box Z is placed either at top or bottom. U is placed above box H and is placed immediate below the
box Y. Box H is not placed at bottom but placed immediate above box Z. Box G is not at top. Box X is
placed below box G.

29T (36-40): FHTIIT SITARTLT T EATAIAH TETAF Y ST A1 (<0 T T47 & I «: A AT F, G, H,
U, V, X, Y,
7 U o SO U TG U g ATohel STET Al 19 SHT HH H 21| Jia H, 199 Y o 1= @1 71 gl H e U s o=
T i TG T 8| V ¥ Z o 19 &7 19 T 0 | S Z Tl S AT A W@ A7 5| U Tl e H o 39
T TETIATE A T Y 5 Sieh A= TGT AT 8| T H T T A= qg ! T@T TAT &, el F199 Z o 31 H%

TGT T | Jied G ot I A51 TET AT g T X, T G 3 A= TGT 147 2

Q36. Which of the following box is 274 from the top?
fRafafea § @ Ft a1 TiF U T AT T F?
@V

(b)Y

(U

(d) X

(e) None of these /'%F-Iﬁ g Fre «T@
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Q37. Which of the following box is placed immediately above box V?
FRafafea & & it ar atww, at VF S S @1 47 32

(@) Vv

(b) G

(au

(X

(e) None of these /Z7H o #Is A5l

Q38. How many boxes are kept between box G and box Y?
T G 2T T Y ¥ 7 e ey @ g &2

(a) One /T

(b) Three/d=

(c) Two/aT

(d) Four/=mX

(e) None of these/Z#H | s gl

Q39. How many boxes are kept below box V?
i Vo o T St <@ T &7

(a) Three/dqT=

(b) Two /=T

(c) One /U=

(d) Four/=TT

(e) None of these/ZAH | #Is Anl

Q40. Which of the following box is placed immediately above box Y?
Faforea § § F9 91 9t S Y F 3T FI¢ @7 =T 8?2

@V

(b)U

(OF

(d) X

(e) None ofthese/%‘«-l’ﬁ T A H@'

Directions (41-46): The pie chart given below shows the percentage distribution of number of
students (boys + girls) who play Golf in six different schools.

= T 7T a1 ATE B ATM-IAAT Al § Toh @ aTet [A=refT (A= + qsfhdi) i de1qr &1 qfaera
faraor <ertar 21
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Q41. No. of students from school A and D who plays golf are what percentage of no. of students
from school C who play golf.

A A 3T D & Mieh @om a1 iy ft e m, @ € § Mew o arer R{eriat i e v e
EILREE
(a) 40%
(b) 50%
(c) 100%
(d) 80%
(e) 25%

Q42.Whatis the central angle made by the students of school F who play golf out of total students
from all school who plays golf?

M6 @A qT Tt AT T [AATHAT A F The F 3 RSt grr a9 141 5 107 147 872

(a) 72¢

(b) 36°

(c) 54°

(d) 90°

(e) 57.6°

Q43.1f45% of the students from school B who play golf, then find no. of students in school E who
plays Golf are what percentage more or less than no. of students in school B.

af< &t B ¥ 45% fa=mfT St Tiew @ &, a1 [T o &6t E | Mew @ are =it it 6 r, &6
B ¥ faamiat $t gt @ fraw widera stfars ar w7 82
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(a) 45%
(b) 50%
(c) 75%
(d) 30%
(e) 60%

Q44. What is the respective ratio of number of students from school E and D together who plays
Golf and that from school A and F together?

T E 3 D ¥ femae Mok @oe arer f=nfeiay i g o & A 3 F & e ety & g
FT T FohaT &7

(a)6:7

(b)5:3

(c)8:7

(d)7:6

(e)4:5

Q45. What is the difference between no. of students in school B and D together who plays Golf
and no. of students in school E and F together who plays Golf?

T B 3 D # T Tiew @a aro ety it €& ik & E siX F § fAam Mew @9 ar
et i gea F fi= = siax fohaeT 82

(a) 240

(b) 120

(c) 150

(d) 180

(e) 210

Q46. In school F, 40% of students plays Golf and respective ratio of boys and girls in school are
7: 5. If no. of girls who play golf are 90, then find no. of boys who don’t plays golf.

A F #, 40% R=mff Mo @ § i &6 | a1 sl A=l #T Ga18d siqura 7: 5 g AR Teh o
Tt et Y §=aT 90 8, A7 G=AT Meh Tl e a1 TSIl AT AT T

(a) 120

(b) 180

(c) 150

(d) 240

(e) 200

Directions (47-52): The table given below shows the number of males in four different
companies and percentage of females in each company. Read the data carefully and answer the
following questions.

= & T arierenT FTT AAT-STAT AT § TEUT T GCAT AT TAH FAAT J HIgaATHA T TALrd IqTT 2l
T A A § iR o) Meforfaa vt & sae e
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Company / Males /99 | % of females
FIAT J ATEE3T &1 %

A 90 40%

B 50 T5%

C 99 45%

D 30 20%

Q47.Find the total no. of females in company B and D together.
Faet B 3l D § fa=man< Aigwrel it o1 @ear Jra fifem)

(a) 180

(b) 210

(c) 240

(d) 270

(e) 150

Q48. What is the respective ratio of no. of employee in company A and that in B?
HUAT A 3T B § FHATRAT it AT FT Gt SAATT 34T 57

(@) 3:5

(b)5:8

(c)3:4

(d) 4:5

(e)5:7

Q49. No. of males in company C is what percentage of Average no. of females in company A, B and
D?

HUAT CH TEW1 1 G&IT, FT A, B 3iT D # qigATsh 6l sfed G441 &7 fohawT viaera g2

(a) 40%

(b) 90%

(c) 70%

(d) 80%

(e) 100%

Q50. In company E, total no. of employee are 20% more that in company B. If no. of females in
company E are 20 more than that in company D, then find the no. of males in company E.

YAt E® FHATAT hl T ST, FIHT BH 20% Afa {1 If< Shaet E 7 Afgarsit i d&m, da«t D H ga=r
# 20 2 g, ¥ Fat E H TRUT i §&4T A1q 19Tl

(a) 100

(b) 80

(c)120

(d) 60

(e)90
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Q51. Find the difference between no. of males in company A and C together to no. of females in
company B and D together.

FAT A 3 CH Raree geut it §@T i F9t B 3fi D § faemee afgarstt it d=ar & = v siqe T
fform)

(a) 65

(b) 90

(c) 110

(d) 75

(e) 81

Q52.1f 2 /5t of males and 1/4t of females in company A got promotion, then find the total no. of
employee in company A who didn’t get any promotion.

afS Faft AH 2/5 [T AT 1/4 AR H g Ry, qF Foet A § W& FHATRAT it For d&1qw 09
Fiforg e S vl 7 fsth

(a) 81

(b) 96

(c)121

(d) 99

(e) 51

Directions (53-57): The information given below shows the no. of students (male + female) in
two classes who read Hindi newspaper or English newspaper or both. Each students read at least
one newspaper.

= < T T < weArent ® R srEat A SRl srEeTe A AT uga 9T gl ([ + "igen) i @
& ZLATAT g1 TAF A=l 7 & 7 T e IsaT g

Class 8th: No. of students who read only English newspaper are 50% more than students who read only
Hindi newspaper. No. of students who read both newspapers are 10. Total no. of students in class 8th
are 60.

FeAT 8T: Faet SUST G Tg ATl AATIAAT f FE&AT, et (Gl TG Gz aTel (=i & eqr o
50% STTer g1 IIAT T@aTT T@e aTel Ter=ITiei= i §&aT 10 g1 FeaT 8 § [=t=idt i Tf §&T1 60 7

Class 9t : No. of students who read only Hindi newspaper in class 9t are 30% less than no. of students

who read only English Newspaper in class 8%. The respective ratio of students who read only Hindi
newspaper and only English newspaper in class 9t is 7: 10. Total students who read both newspaper
in class 9t are 5.

FEAT 9T : FeAT 9FAT | Aol TRal AGETT TR aATel (SAATIHAT T FEAT, FEAT 81 § Aol ST AGATL TET a7l
et &t J=aT & 30% FH g FET 9FT H Fao Fal T@aTT Sl Fad sl T@are 9z arl St
T ST AT 7:10 T FET 9FAT | IIAT TG U@ AT ATt it Fof &7 5 2|
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Q53. Total no. of students in class 9th are what percentage more or less than that in class 8th,
Fear 9T F iRy &t ot |, Far 841 & faenfiay & fraw widera sfes av w9 872
2
6-9%
(@ *
(b)12.5%
(©) 8.0%

1
8 =04
@ 3

(&) 10%

Q54. What is difference between the no. of students who reads only Hindi newspaper in both
classes and who read only English newspaper in both classes?

AT FEATA A Kol [FET AT TBA AT 3 AT FATH H Faer FUST TG g2 AT fA=weeray H Feaw
& = faaeT i 22

(@5

(b) 3

()0

(d)8

(e) 19

Q55. What is the respective ratio between the no. of students who read English paper in class 9t
to no. of students who read Hindi newspaper in class 8t?

HEAT 9 A AT T @A Tga a1er FAarfeiay i dear &1 wear 8 § fFdt sraa ugw arar fRenfiay fit @
& S FT AT FohaeT 82

(@)5:6

(b)6:7

(c)5:4

(d)4:3

(e)7:6

Q56. No. of students who read only Hindi newspaper in class 9t are what percentage of no. of
students who read only Hindi newspaper in class 8th?

w27 9T F Faer fFt sraeT vgn aret fenf¥at v g, Far 8 7 Faer T sraa< g ar faenfiay f
Tt T Tt wiaera 872

(a) 20%

(b)TEr%

(c)
(@) 105%

as
© 150%

2
Zq
663 10
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Q57. If ratio of boys and girls who read only Hindi newspaper in class 8t is 2: 3 and ratio of no.
of boys and girls who read only English newspaper in class 9t is 7: 3, then find no. of boys who

read only English newspaper in class 9t" is how much more or less than no. of girls who read only
Hindi newspaper in class 8th,

A< F4T 8 H Fao fFET AG@IR U AT ASHI X ASTHAT FT ATATT 2: 3 § X F&T 97 § Faar st
HEA IEA a1 ASH| ST ASTHAT it H@AT FT ATATT 7: 3 §, T AT g Feqm 9FAT | Fhat SUSIH @A
UEA AT TSI ! ST, F&T 8 H FHaer Zal TG @A qATAT AT 0t 9T F Fhaeit Tfer a1 7 B

(@) 3
(b)9

()6
(d) 12

(e) 8

Q58. A train of length L meter at the speed of 72 kmph cross a platform of length 1.5L meter in
25 seconds. Find the Time (approximate) taken by train to cross a man who run in same
direction of train at the speed of 2 m/s.

72 Tt wfy = it e & Fiars L HieT ) 7 27 25 e | 1.5 wie HieT it Aa1s F TWehid Y g Lt
gl 2 Hiew/ade & i & 37 T qaTe T & e a1t =1RE r I FEA § & FI0 o 137 99 (SeTea)
ST FfSra)

(a) 8 sec/8 THET

(b) 17 sec/17 T&HE

(c) 11 sec/11 H&e

(d) 4 sec/4 TS

(e) 20 sec/20 TS

Q59. A and B entered into a business with investment of Rs.4000 and Rs.3000. after 4 months, A
withdraws 25% of the investment while B Invest Rs.1000 more. If profit share of B is Rs.1100,
then find the annual profit.

A 3T B ¥ 4000 T T 3000 T & e F 9 U Fqa9qg #
waer fFaml 4 75 % 918, A AT #T 25% 199 F AT § T B,
1000 T3 sTEh Haer FLar g1 afe B #1 a1 REr 1100 T2 &, ot
CHLERIE ISR

(a) Rs.2100/2100 &

(b) Rs.1600/1600 %

(c) Rs.2400/2400 %

(d) Rs.1800,/1800 % G)

(e) Rs.2700/2700 %

ALL EXAMS,
ONE SUBSCRIPTION.
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Q60. There is set A of four consecutive even numbers and set B of 4 consecutive odd numbers.
The square of sum of lowest and highest even no. is 196 while average of given 4 odd numbers
is 10. Find the sum of highest even numbers and highest odd number.

T FANT T H&AT3 T gD A § 3T 4 FAR FAww Geaqret 71 99qgT B gl 999 St i Igaw a9
TEITA 3 T T a7 196 § STafeh <t T2 4 Frow gt #r ofua 10 §) Igaw qw wearsyt i Igaw faww
H&ITA T ART AT i orQ]

(a) 27

(b) 21

(c) 31

(d) 17

(e) 23

Directions (61-65): Which number is wrong in the following number series.

FRaferera dear gaer § i € 9 1w T9q g2

Q61.58,111, 156,193,222, 245, 256
(a) 58

(b) 245

(c) 256

(d) 111

(e) 222

Q62.369,377,394, 419,455, 504, 568
(a) 568
(b) 369
(c) 377
(d) 504
(e) 455

Q63.951,921, 858, 732,515, 171
(a) 515
(b) 171
(c) 951
(d) 921
(e) 858

Q64. 15, 75, 129, 191, 243, 309, 357
(a) 15
(b)75
(c) 309
(d) 243
(e) 357
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Q65. 48, 144, 360, 720, 1040, 1080, 540
(a) 1040

(b) 144

(c) 48

(d) 720

(e) 540

Q66. 8 men together can complete a work in 12 days. These 8 men started working together on
the same work and have worked for 8 days, then X men more joined them which reduced the

remaining work completion time by 33%% Find the value of X?

8 =rfxr e T& wr & 12 3T § g0 #2 a9 g1 T 8 =fxw A F1 HTAT S <a § 97 8 3=t
T FTA T ©, (BT X 3 [T I a1 F § AT ZIa § Foraer A w1 I i F7 T80T 33%%?5#'@
STAT g1 X FT HI A1

R

(a) 3 men / =9

(b) 4 men/ IEW

(c) 5 men/ e

(d) 6 men / T2

(e) 2 men / T&W

Q67. The ratio of spirit and water in two mixtures of 24 liters and 42 litersis 7: 5and 5: 9
respectively. Both the mixtures are mixed together. Now the ratio of the spirit and water in the
new mixture is

24 YT 3T 42 e & [ron | e sii qrel &7 SIqard HHT: 7: 5 3% 5: 9 g1 Tt [Asyor #7 arT
e stTar g1 19 A fsor § e S} qTT ST 8-

(@) 21:29

(b) 29:35

(c)37:29

(d)29:37

(€)31:29

Q68. The speed of boat in downstream is ‘X-4’ kmph and ratio of time taken by a boat to cover a
certain distance in upstream to downstream is 2 : 1. If boat takes 5 hours to Cover 40 km in
Upstream, then find the value of X?

G & SRt 79 =t fq 'X-4" et I sier § i o & gfaser sfi o1 & s a1d g1 s [Afsa
O & T A § O T 9T T AT 2 1 1) I A1 H AT Wagd 40 Tt @ araa sa d
5 5 A &, AT X FT HIT F7d hiorq)
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(a) 16
(b) 20
(c) 22
(d) 24
(e) 18

Q69. Vijay's age is 66%% more than the sum of age of his three children. If the average of his
three children’s age is 11 years, then find the average age of Vijay and his three children?
Wﬁmmeﬁ?aﬁﬁm%zﬁv%%%%ﬁ%%l 7fs 3% fiw agl A faq g 11 a9 &, v
fasra ol Ia i agi it sfaa ey s ifsray

(a) 22 years / a9

(b) 20 years / 9

(c) 23 years / 9

(d) 25 years / a

(e) 28 years / AT

Q70. The average weight of a group increased by 2 kg when a new person having weight of 78 kg
joins the group. If the new average weight of the group becomes 70 kg, then find the members in
the group initially.

T g & siraa W< 2 T it gl It § ST 78 FIT Wi &t U 741 A f<h 99g | a1 giar 197 998
T 74T S WX 70 fRuT 81 SITaT g, @ ST § 99g % 99 A7q Hiorg|

(@>s

(b) 6

(c) 4

(d)7

(e)3

Directions (71-75): What approximate value should come in the place of question (?) mark in
following questions.

Rerferfera wert & werf=es (2) % S 9 ST 14T W9 AT 91Ul

071 125.07% of 419.93 + 50.99 = (80% of ?)°

(a) 30
(b) 45
(c) 20
(d) 25
(e) 50
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072 7% % 12.03 4+ 24.019% of 450 = (39.99)" + 3/511.93

(a) 3
(b) 4
(c)5
(d)6
(e)8

E‘z‘i'm +(12.98)" = 51.98% of 400.01
Q73.

(a) 4
(b) 12
(c)8
(d) 32
(e) 16

? x (20.01% of 580.01 + v/196.01 ) = (8.99)° + 17.01 x 3.03
Q74.
(@) 6
(b) 4
(02
(d)8
(e) 12

Q75. 1248.01 + 7 = 96.01 % of 1525.01

(@6
(b) 5
(c) 4
(d) 10
(e)12

Q76. Shivam invested Rs. X in a scheme offering 20% p.a. at CI compounding annually for 3 years.
If the interest earned in third year only is Rs. 21600, then find X?

frew 7 3 ¥ F forg At &9 & S Iwgie saT 9X 20% I a9 6T T I HEA a1 T AT H X

& &7 e T afe shae T a9 #§ fSta s31e7 21600 % §, T7 X 19 Sl
(a) 60,000
(b) 75,000
() 55,000
(d) 70,000
(e) 65,000
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Q77. A shopkeeper sold a table at 40% discount and thus making a loss of 10%. If he gives a
discount equals to half of the previous discount then he makes a profit of Rs. 60. Find at what
price shopkeeper should sell the table to make a profit of 25%?

T TR 7 TF A 1 40% & I 997 30 37 THL 10% ¥ g g2 R 9% et g F g F =
B AT § AT S 60%F. FT ATH BIaT gl 25% FT ATH FHIA & (T FHARTC H AT &1 [F AT I =47
Tfeu?

(a) 600 Rs.

(b) 540 Rs.

(c) 375 Rs.

(d) 360 Rs.

(e) 480 Rs.

Q78. The ratio of the radius of two circles A & B is 3 : 4 respectively and the sum of circumference
of circle A and diameter of circle B is 188 cm. If the side of a square is 14 ; % more than the sum

of the radius of circle A & B, then find the perimeter of the square?

3 T A i B F BT 7 Sa7q FHLM: 3: 4 § AT IA A it 7Y $fiX I B F AT FT TRT 188 AT g
7fs foelt ot & 9o, FT A SR BRF B s amr 14%%&%%’,a‘raﬂf$rtr&mtrmﬂﬁﬁm

(a) 200 cm

(b) 208 cm

(c) 216 cm

(d) 224 cm
(e) 232 cm

Q79. A box contains 12 red, 6 green and ‘X’ yellow balls. Probability of choosing one green ball
out of the box is 2/9, then find the probability of choosing one ball which can be either red or
yellow?

T S | 12 A1, 6§ A< 'x' AT A< &1 T § F T gL A 0 A 1 IT—ARAT 2/9 8, T TH g 6l
A T ATRAFHAT AT HIOIT ST AT AT AT AT FIAT &1 Tl 57

(@) 4/9 (b) 5/9 (c)2/3 (d) 7/9 (e) 8/9

Q80. A sum of money is divided among C, A and B in ratio of 4 : 5 : 6 and another sum of money
is divided between M and N equally. If B got 2000 more than M then how much C get?

TH A FT C, A 3T B F = 4:5:6 % srqura & fAwriora forar Srar § a9 o st Tir it Msi N & fi=
g €9 § Ao fwam strar g1 afe B M & 2000 srfees w18 a8, ar ¢ 1 fraet Tfer sma Eeft?

(a) Rs. 1000

(b) Rs. 500

(c) Rs. 4000

(d) Can't be determined / fF&ifa A&t AT ST ThaT

(e) None of these / TH | &< Agl
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$1. Ans.(c)
Sol.
Years Ages Persons
1995 25 V
1957 b3 Q
1990 30 R
1980 40 5
1974 46 T
1975 45 u
2005 15 P
S2. Ans.(b)
Sol.
Years Ages Persons
1995 25 Vv
1957 63 Q
1990 30 R
1980 40 5
1974 46 T
1975 45 u
2005 15 P
S$3.Ans.(a)
Sol.
Years Ages Persons
1995 25 Vv
1957 63 Q
1990 30 R
1980 40 5
1974 46 T
1975 45 u
2005 15 P
$4. Ans.(c)
Sol.
Years Ages Persons
1995 25 Vv
1957 63 Q
1990 30 R
1980 40 5
1974 46 T
1975 45 u
2005 15 P
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S5. Ans.(d)

Sol.
Years Ages Persons
1995 25 v
1957 63 Q
1990 3N R
1980 40 g
1974 46 T
1975 45 U
2005 15 p

$6. Ans.(b)

Sol.

S7.Ans.(b)
Sol.

S8. Ans.(b)
Sol.

weather rain
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S9. Ans.(e)
Sol.
A E D E C B
! | | I | I Facing South
: | | I | I Facing North
R U P T Q S
$10. Ans.(a)
Sol.
A F D E C B
! | | I | | Facing South
| | | I | |_ Facing North
R U P T Q S
S11. Ans.(c)
Sol.
A F D E € B
! | | I | I Facing South
| _ Facing North
—|—|—|—
R U P T Q S
S12. Ans.(b)
Sol.
A F D E C B
! | | | | I Facing South
I | I I | i Facing North
R U P T Q S
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$13. Ans.(d)
Sol.
A F D E C B
! | | I | I Facing South
| I I I I |__ Facing North
R u P T Q s
S14. Ans.(c)
Sol.
() m——C()
H(-)=—F(+) A(+) D(-)
B()—G(+)  E()
$15. Ans.(d)
Sol.
(- )mM——C[)
H(-)=—=F(+) A(+) D()
B(-) ——G(+) E(-)
$16. Ans.(a)
Sol.
+)m——C()
H(-)=—=F(+) A(+) D(-)

B(-) —G(+) E(-)
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$17. Ans.(d)
Sol.

—
CONII:-'EIIREI-INCE
| ] I

$18. Ans.(a)
Sol.
Floor | People Profession
7 Q Businessman
6 P Carpenter
5 U Shopkeeper
4 T Teacher
3 vV Musician
2 S Pharmacist
1 R Director
$19. Ans.(a)
Sol.
Floor | People Profession
7 0 Businessman
5] P Carpenter
5 U Shopkeeper
4 T Teacher
3 V Musician
2 S Pharmacist
1 R Director
$20. Ans.(c)
Sol.
Floor | People Profession
7 Q Businessman 'm
6 P Carpenter
5 U ShD]]kE'EI]EI' ALL EXAM S,
4 T Teacher ONE SUBSCRIPTION.
3 V Musician
2 S Pharmacist
1 R Director
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S$21. Ans.(b)
Sol.
Floor People Profession
7 Q Businessman
5] P Carpenter
5 U Shoplkeeper
4 T Teacher
3 Vi Musician
2 5 Pharmacist
1 R Director
$22. Ans.(a)
Sol.
Floor People Profession
7 Q Businessman
5] P Carpenter
5 u Shopkeeper
4 T Teacher
3 V Musician
2 5 Pharmacist
1 R Director
$23. Ans.(a)
Sol.

(DHzR>T=L[True]
(INT<R<H =K [False]

S$24. Ans.(e)

Sol.

(D G=D <N <P [True]
(II G<B =] [True]

$25. Ans.(b)
Sol.

(M E<I>N=R2S [False]
(IDN =R 2 S [True]

$26. Ans.(d)
Sol.

(1) Y = M [False]
() S2Y=M<W >0 [False]
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$27. Ans.(a)
Sol.

(M V=Z<X=U[True]
(INF<C<V = Z [False]

$28. Ans.(c)
Sol.
F 3m
B 4m C(C
am ZL2rT|__I
8m
$29. Ans.(d)
Sol.
F 3m
B 4m C
am 12m“|
am
D 5m E

4m

dm

ﬁlmf

/
/

I

/

|l 6m
I

b o e ke
D 5m
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$30. Ans.(b)
Sol.
F_3M g
Adm
4
B m C H
am 12m" I
8m
$31. Ans.(b)
Sol. ‘X’
$32. Ans.(b)
Sol.
B
P
I K
F v
T I
D
L < M
$33. Ans.(d)
Sol.
B
P
I K
F v
T I
D
L < M
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S34. Ans.(a)
Sol.

$35. Ans.(c)
Sol.

$36. Ans.(b)
Sol.

Boxes
E

1 =l PR R P B e 1

34 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

S37. Ans.(b)
Sol.

Boxes

S I =R

$38. Ans.(a)
Sol.

Boxes

A 2 = Ak

$39. Ans.(a)
Sol.

Boxes

M= o [ = |

$40. Ans.(c)
Sol.

Boxes

e P T = I B
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S$41. Ans.(c)
Sol.

12+10
22

Required percentage = * 100

= 100%

S42. Ans.(e)
Sol.

Required angle = % * 360 = 57.6°

S$43. Ans.(a)
Sol.

Total number of students in school B = % ® 1500 x % = a00

No. of students in school E who plays golf = % »* 1500 = 330

e00—-330
a00

So, required percentage = »* 100

— 4504

S$44. Ans.(c)

Sol.

22+10
124186

Required ratio =
_32_s

28 7

$45. Ans.(c)
Sol.

Required difference = [(22 + 16) — (18 + 10)] X %

= 150

$46. Ans.(e)
Sol.

Total no. of students in school F = % % 1500 % % = 600

No. of boys and girls are 350 and 250 respectively.
No. of students who plays golf = % »% 1500 = 240

No. of students who don't play golf = 600 — 240 = 360
Required no. of boys = 350 — (240 — 90)
= 200
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$47. Ans.(d)
Sol.
Company | Males females Total
A 90 60 150
B 50 150 200
C 99 81 180
D 30 120 150

Required sum = 150 + 120 = 270

$48. Ans.(c)
Sol.
Company | Males females Total
A 90 60 150
B 50 150 200
C 99 81 180
D 30 120 150
Required ratio = =03
200 4
$49. Ans.(b)
Sol.
Company | Males females Total
A 90 60 150
B 50 150 200
C 99 81 180
D 30 120 150

Average no. of females in company A, Band D

= =% (60 + 150 + 120)
=20 _ 110
3

So, required percentage = % X 100 = 90%
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$50. Ans.(a)
Sol.
Company | Males females Total
A 90 60 150
B 50 150 200
C 99 81 180
D 30 120 150

Total no. of employee in company E = 200 x % = 240

No. of females in company E = 1204 20 = 140
So, no. of males = 240 — 140 = 100

S$51. Ans.(e)
Sol.
Company | Males females Total
A 90 60 150
B 50 150 200
C 99 81 180
D 30 120 150

Required difference = (150 + 120) — (90 + 99)
=270 —189 =81

$52. Ans.(d)
Sol.
Company | Males females Total
A 20 60 150
B 50 150 200
C 99 81 180
D 30 120 150

No. of males who didn't get promotion = E % 90 =54

No. of females who didn't get promotion = % ¥ 60 = 45
Required sum = 54 + 45 = 99
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$53. Ans.(a)
Sol.

Class 8th Class 9th

Hindi English Hindi English

Total students in class 9% = 21 + 5 + 30 = 56
Required percentage = :_u- * 100 = 5%%

S$54. Ans.(e)
Sol.

Class 8th Class 9th

Hindi English Hindi English

. ) )

Required difference = 60 — 41 = 19

S55. Ans.(e)
Sol.
Class 8th Class 9th
Hindi English Hindi English

Students who read Hindi newspaper in class 8 = 20 + 10 = 30
Students who English newspaper in class 9t =5 + 30 = 35

L

: . a5
So, required ratio = — = -

39 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A o
Addal2417)

$56. Ans.(d)
Sol.
Class 8th Class 9th
Hindi English Hindi English

Required percentage = % % 100 = 105%

S57. Ans.(b)
Sol.
Class 8th Class 9th
Hindi English Hindi English

No. of boys who read only English newspaper in class 9th = % % 30=21

No. of girls who read only Hindi newspaper in class 8t = % ®x 20 =12

So, required difference = 21 — 12 =9

$58. Ans.(c)
Sol.

Speed of train = 72 x i =20m/s
ATQ

2.5L =25 x 20 =500

L = 200 meter ALL EXAMS,

So, length of train = 200 meter ONE SUBSCRIPTION.

: . 200 _ 200
So, required time = — = —

H N
Cirate 0
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$59. Ans.(a)

Sol.

Ratio of profit share of Aand B =

= 4000 x 4+ 3000 X 8: 3000 x 4 + 4000 x 8
=10:11

So, required profit = 1100 x % = 2100

$60. Ans.(e)
Sol.

Let 4 consecutive even no. are x, x+2, x+4, x+6 and 4
consecutive odd numbers are y, y+2, y+4, y+6.

ATQ

(x+x+6)° =196

2x +6 =14

x=4

So, consecutive even numbers are 4, 6, 8, 10.

yty+itytat+y+e

Average of odd numbers = .

4y + 12 = 40

y=7

So, consecutive odd numbersare 7,9, 11, 13
So, required sum = 10 + 13 = 23

10

S$61. Ans.(b)
Sol.
The wrong number is - 245
58 111 156 193 222 243 256

I I | I— I Il |
53 45 37 29 21 13

I Il Il | Il |
8 8 8 8 8

$62. Ans.(c)
Sol.

The wrong number is - 377
369 +3° =378

378 + 4% =394
394 + 5% =419
419 + 6% = 455
455+ 77 =504
504 + 8% = 568
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$63. Ans.(d)
Sol.

The wrong numberis - 921
951 — (3" 4+ 1) =923
923 —(4° +1) =858
858 — (5% +1) =732
732 — (6° +1) =515
515 —(7° +1) =171

S$64. Ans.(c)
Sol.

Wrong term = 309

Pattern of series
15 75 129 191 243 307 357
I || | || || | |
+60 +54 +62 +52 +64 +50
I | | | || |
-6 +8 -10 +12 -14
So, there should be 307 in the place of 309.

$65. Ans.(a)

Sol.
Wrong term = 1040
Pattern of series -

48 X 3 = 144
144 x 2.5 = 360
360X 2 =720

720 % 1.5 = 1080
1080 x 1 = 1080
1080 x 0.5 = 540
So, there should be 1080 in the place of 1040.

$66. Ans.(b)

Sol.

Let efficiency of a man is 1 unit/day.
ATQ,
8X12=8X8+(84X) X X4

X =4 men
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S$67. Ans.(d)
Sol.

Ratio of the spirit and water in the resultant mixture

7 -4
24334‘42)(3 _ 14415 _ E
24x> pa2x2 10427 37
12 iz

$68. Ans.(b)

Sol.

let speed of boat in still water and speed
of Stream be P and Q kmph respectively.

ATQ,
P-Q= ? = 8 kmph (Upstream Speed)
P+Q = 16 kmph (Downstream Speed)

ATQ, Downstream Speed, X-4 = P+Q
So, X =16+4 =20.

$69. Ans.(a)
Sol.

Sum of Ages of Vijay's three children = 11%3 =33 years.
So, Vijayage = 33 X :: = 55 vears.
55+33

Required average =

= 22 years.

$70. Ans.(c)
Sol.

let initially there were x members in the group
Actual average =70 -2 = 68 kg

70(x+ 1) =68x+78
x=4

S$71. Ans.(a)
Sol.

125 80
12 x 420 +51 (m X )

2
525+ 51 = (ix?)
s
7=24%x2
4
7=30
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$72. Ans.(c)

Sol.

7B x 12+ ﬁ X 450 = (40)2 + Y512
73 % 12=1600 + 8 - 108

723 x 12 = 1500

73 =125

7=5

S$73. Ans.(e)
Sol.

224169 == x 400
7 100
2 =208 — 169
) o624
39
7=16

S$74. Ans.(a)
Sol.

20 _
?x(mxssn+14)—?29+51

7% 130 =780
7=6

$75. Ans.(a)
Sol.
95
1248 + 72 = — x 1525
100
1248 + 7% = 1464
7P =216
=6

$76. Ans.(b)
Sol.
Equivalent interest rate of 20% p.a. at CI

for two years = (20 + 20 + znxzn) %

100
= 4404
And, equivalent interest rate of 20% p.a. at CI for

three years = (44— + 20+ 4‘12;0) 24
= 72.804
ATQ,
Xx728 _ XX44 _ 51000

100 100
¥ — 2160000

28.8

X = 75,000 Rs.

44 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A GET IT ON

Addai247

Google Play

$77. Ans.(c)

Sol.

Let mark price of table = Rs. 100x

After discount of 4094, selling price of table = % = Rs.60x
Given, loss on selling table at 40% discount = 10%

Cost price of table = 6;%:’ x 100 = Rs.::;ux v (1)

When table is sold at half discount, i.e. 2004 discount, then:
100xx80 _ b o0
Cost price of table = 80x - 60 ...[if)
Comparing (i) & (ii):

200x
3 = 80x — 60

x=4.5Rs.
Cost price of table = % * 4.5 = Rs.300

Selling price of table =

So, required selling price = 300 x % = 375 Rs.

$78. Ans.(d)

Sol.

Let radius of circle A & B be 3r and 4r respectively
2X=X3r+2x4r=188cm

r=7cm

Side of square =% X(3X7+4%x7)=56cm
Perimeter of square = 56 X 4 = 224 cm

$79. Ans.(d)
Sol.
ATQ,
e _Z
12464 T 5

18
=:tx=—=9
2

9+12 21 7
Required probability = ===
q p y 12+6+9 27 9

Alternate,

Required Probability = 1 - Probability of choosing one green ball
—1-2=1
s 9

$80. Ans.(d);
Sol.

sum 1 sum 2

/\ ALL EXAMS,

PR A ONE SUBSCRIPTION.
;1-.;: I Iex ¥ v

Can't determine x from this equation
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